[image: image1.wmf]3

1

2

5

-

+

x

x

[image: image2.wmf]5

4

3

x

x

-


[image: image3.wmf]2

3

2

5

4

-

-

-

x

x


[image: image4.wmf]4

3

7

2

y

x

x


[image: image5.wmf]p

q

x

q

p

2

3

4


	
	
	Set 1
	Set 2
	Set 3
	Set 4
	Set 5
	Set 6
	Set 7
	Set 8
	Set 9
	Set 10

	1
	Surds
	
	
	
	
	
	
	
	
	
	

	2
	Circle Theorems
	
	
	
	
	
	
	
	
	
	

	3
	simplifying algebraic fractions
	
	
	
	
	
	
	
	
	
	

	4
	bearings
	
	
	
	
	
	
	
	
	
	

	5
	similarity in 2D & 3D
	
	
	
	
	
	
	
	
	
	

	6
	straight line graphs
	
	
	
	
	
	
	
	
	
	

	7
	solving quadratic equations 
	
	
	
	
	
	
	
	
	
	

	8
	transformations
	
	
	
	
	
	
	
	
	
	

	9
	vectors
	
	
	
	
	
	
	
	
	
	

	10
	volume & surface area of 3D shapes
	
	
	
	
	
	
	
	
	
	


[image: image6.wmf]3

4

2

2

-

-

y

x

y



	Revision Set 1

	1
	simplify: 2√18 x 3√2
	

	2
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Find the angle marked x in this circle with centre O.
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simplify:

	

	4
	A ship sails for 50 km on a bearing of 1200.
How far east has it travelled?
	

	5
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	find x

	6
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What is the equation of this line?


	

	7
	expand & simplify: (m + 4)2
	

	8
	[image: image11.wmf]
	reflect in the line x = 2


	9
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	The diagram shows the vectors 
OA = a and OB = b. M is the midpoint of AB.

Find AB and AM

 

	10
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This prism has a regular cross-section in the shape of a right angled triangle.


	Find the volume of this prism.


	Revision Set 2

	1
	simplify: 6√2 ÷ 2√3
	

	2
	[image: image14.png]EEC R




Find the angle marked x in this circle with centre O

	

	3
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simplify:

	

	4
	A ship sails for 75 km on a bearing of 0780. How far east has it travelled?
	

	5
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	find PQ

	6
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What is the equation of this line?
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	7
	expand & simplify: (3 + 2t)2
	

	8
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	reflect in the line y = -1

	9
	[image: image21.png]EEC R






	The diagram shows the vectors 

OA = a and OB = b. M is the midpoint of AB.

Find BA and BM
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This prism has a regular cross-section in the shape of a right angled triangle.
	Find the total surface area of this prism.


	Revision Set 3

	1
	simplify: √2 x √3 x √2
	

	2
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Find the angle marked x in this circle with centre O


	

	3
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simplify:

	

	4
	A ship sails for 75 km on a bearing of 0780. How far north has it travelled?
	

	5
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	find h

	6
	write down the equation of the line perpendicular to y = 2x -1
	

	7
	expand & simplify: (x - 2)2 -4
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	rotate the shape 90o clockwise about (0, 0)
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	The diagram shows the vectors 

OA = a and OB = b. M is the midpoint of AB.

Find OM in terms of a and b
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	find the volume of the cylinder


	Revision Set 4

	1
	Expand & simplify: √3(2 - √3)
	

	2
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Find the angle marked x in this circle with centre O


	

	3
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simplify:
	

	4
	A helicopter leaves an army base and flies 60 km on a bearing of 2780.
How far west has the helicopter travelled?
	

	5
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	find x

	6
	write down the equation of the line perpendicular to y = -x + 2
	

	7
	factorise: m2 + 7m + 10
	

	8
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	rotate the shape 180o clockwise about (3, 3)


	9
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	The diagram shows the vectors 

OA = a and OC = -b. N is the midpoint of AC.

Find AC and AN


	10
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	find the total surface area of the cylinder


	Revision Set 5

	1
	Expand & simplify: (1 + √3)(3 - √3)
	

	2
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	a =
b =

	3
	[image: image44.png]EEC R




simplify:
	

	4
	A helicopter leaves an army base and flies 60 km on a bearing of 2780.

How far north has the helicopter travelled?
	

	5
	Find the height of a pole which casts a shadow of 1.5m when at the same time a man of height 165 cm casts a shadow of 75 cm.
	

	6
	write down the equation of the line perpendicular to y = ¼x - 3
	

	7
	factorise: 7x2 + 8x + 1
	

	8
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	Enlarge the rectangle by a scale factor of 1/3 about the origin

	9
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	The diagram shows the vectors 

OA = a and OC = -b. N is the midpoint of AC.

find CA and CN
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	find the volume of this rectangular based pyramid


	Revision Set 6

	1
	simplify and write in the form a√b: √18
	

	2
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	x = 

c =

	3
	[image: image49.png]


simplify:
	

	4
	A plane sets off from an airport and flies due east for 120km before turning to fly due south for 70km before landing at Seddeth. What is the bearing of Seddeth from the airport?
	

	5
	The length ratio between two similar objects is 2: 5.
What is the area ratio between the solids?

What is the volume ratio between the solids?
	area ratio =
volume ratio =

	6
	write down the equation of the line parallel to y = 4x – 5 and passes through (0, 1)
	

	7
	factorise: p2 - 9
	

	8
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	Describe fully the single transformation that maps shape P onto shape Q.


	9
	

	The diagram shows the vectors 

OA = a and OC = -b. N is the midpoint of AC.

Find ON in terms of a and b


	10
	

	find the volume of this rectangular based pyramid


	Revision Set 7

	1
	simplify and write in the form a√b: √250
	

	2
	find the value of x

	x = 

	3
	simplify:
	

	4
	Lopfarm is 17 miles from Lath on a bearing of 210O.

How far south of Lath is Lopfarm? 
	

	5
	The length ratio between two similar objects is 4 : 7

What is the area ratio between the solids?

What is the volume ratio between the solids?
	area ratio =

volume ratio =

	6
	write down the equation of the line parallel to y = ½x + 3 and passes through (0, -2)
	

	7
	factorise:16x2 - 9
	

	8
	
	translate triangle A by the vector (4, -2)


	9
	The diagram shows the vectors OA = a and OB = b. the point C divides the line AB in the ratio of 1 : 2.

What is AB and AC?
	

	10
	

	find the volume of this cone


	Revision Set 8

	1
	simplify and write in the form a√b: √63
	

	2
	
	x = 

	3
	simplify:
	

	4
	Lopfarm is 17 miles from Lath on a bearing of 210O. How far east of Lopfarm is Lath?
	

	5
	A shape has an area of 15cm2. What is the area of a similar shape whose lengths are 3 times the corresponding lengths of the first shape?
	

	6
	write down the equation of the line perpendicular to y = 3x + 2 and passes through (0, -1)
	

	7
	factorise:16y2 -25x2
	

	8
	
	enlarge triangle A by a scale factor of 1/3 about the point (5, 2)


	9
	

	The diagram shows the vectors OA = a and OB = b. the point C divides the line AB in the ratio of 1 : 2.

What is OC in terms of a and b?

	10
	

	find the total surface area of this cone


	Revision Set 9

	1
	simplify: 2√2 x 3√18
	

	2
	
	k =
m =

n =

	3
	simplify: 
	

	4
	A ship sails for 58 km on a bearing of 0420.

How far north has it travelled?
	

	5
	A bottle has a base radius of 4 cm, height 15 cm and a capacity of 650cm3. A similar bottle has a base radius of 3cm. 

What is the volume ratio? 

What is the volume of the smaller bottle?
	

	6
	write down the equation of the line perpendicular to y = x - 5 and passes through (0, 3)
	

	7
	Factorise and solve:
x2 + 11x + 18 = 0
	

	8
	
	Describe fully the single transformation that maps shape A onto shape B.


	9
	

	ABCDEF is a regular hexagon. AB = a and BC = b.
What is DE and EF?

	10
	calculate the volume of a sphere with a diameter of 20cm. (leave your answer in terms of ∏)
	


	Revision Set 10

	1
	simplify: 4√5 x 3√6
	

	2
	
	x =
y =

	3
	simplify the following into a quadratic expression:


	

	4
	A ship sails for 75 km on a bearing of 1200.

How far east has it travelled?
	

	5
	A can of paint, 6 cm high, hols ½ litre of paint. How much paint would go into a similar can which is 12 cm high?
	

	6
	find the equation of the line that passes through the midpoint of AB, where A = (-5, -3) and B = (-1, 3) and has a gradient of 2

	

	7
	Solve: k2 – 2k - 15 = 0
	

	8
	
	reflect in the line y = -x


	9
	

	ABCDEF is a regular hexagon. AB = a and BC = b.

What is AD and BE?

	10
	calculate the surface area of a sphere with a diameter of 20cm. (leave your answer in terms of ∏)
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